

# **Disclosure Statement Certification**

CHICALOX	
Candidate or Authorized Committee Name: Cornillee Follar W. Nun Scott	
Representative: Time Rice, Thise Commentions	
Representative: Time Rice Three Commentions  Address: 21590 Newson AVE EUCLED OH 44173	
Phone: 216-526-3724	
Method of Disclosure (check all that apply):	
☐ Telephone (person's name) on (date)	
☐ Mail(person's name) on(date)	
Email to (person's name) on	Llej
☐ In person(person's name) on(date)	
Station Representative (signature);	
Candidate or Representative (signature):	
Date: 10/25/17 Carner Gues Trasuc	0

By signing this document, I hereby certify that I am authorized to purchase political advertising on behalf of the above candidate and that I have received and reviewed a copy of Radio One's Political Broadcast Advertising Disclosure Statement, the terms of which shall govern such purchase.

# AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable	box) DERAL CANDID	ATE	STATE	LOCAL CAI	NDIDATE
To Avail T Window, F	hemselves Of Tederal Candida	The Lowe Ites Must	st Unit Char Sign The Ce	ge During A	Political In Page 3
Station and	AK-FN CO	lecian	OHIO	Date: 10/25	/M
being/on beh	alf of: Comm	TIEE 16	other u	I. Mora S	SCOT,
political party	ified candidate of	Clev	ELAND HO	SING Can	Tina
	100. General held on:11	27 12			
	quest station time				4 - tythake veren til
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Tilmes per l Week	Numberof Weaks
30;	Upras /	7-5	Non	3	
		SEEN	TTACHED )	& CRIMENO	P
Attach propo	sed schedule wit	h charges	(if available):	3000.00	Geos



#### **INSERTION – WZAK 93.1 FM**

AGENCY:

T RICE COMMUNICATIONS

Date: 10/24/17

Client:

MONA' SCOTT for HOUSING JUDGE

Company:

Radio One

Media:

:30 SEC. WZAK 93.1FM

Schedule:

Start Thursday, October 26; End Tuesday, November 7, 2017

Copy:

Congresswoman Marcia Fudge will call-in and voice (need male voice for end tag)

	M-F (6a-10a)	TOM JOYNEI	3	
	Start Date	End Date	# of Spots/Wk	_
1)	10/30	11/5	THF-1/day-2	
2)	11/6	11/7	MTu-1/day-2	4 @ \$65 - \$260.00
	M-F (10a-3p)	SAM SYLK		
	Start Date	End Date	# of Spots/Wk	-
3)	10/23	10/29	F-1/day-2	
4)	10/30	11/5	WTHF-1/day-3	
5)	11/6	11/7	MT-1/day-2	7 @ \$70 - \$490.00
	M-F (3p-7p)	D.L. HUGHLI	EY	
	Start Date	End Date	# of Spots/Wk	<u>=4</u>
6)	10/30	11/5	THF-1/day-2	2 @ \$100 - \$200.00
	M-F (7P-12M)	JOHN MOND	S	
	Start Date	End Date	# of Spots/Wk	_
7)	10/23	10/29	F-2	
8)	10/30	11/5	T-F-2/day-8	
				10 @ \$20 - \$200.00
AT (6	6A-10A)			
	Start Date	End Date	# of Spots/Wk	_
9)	10/28	10/28	Sat-2	
10)	11/4	11/4	Sat-2	

SA

	Start Date	End Date	# of Spots/Wk	
9)	10/28	10/28	Sat-2	
10)	11/4	1 1/4	Sat-2	

4 @ \$20 - \$80.00

# SAT (10a-3p) AHMAD CRUMP (8a-12n) SAM SYLK (12n-4p)

	Start Date	End Date	# of Spots/Wk	
11)	10/28	10/28	Sat-3	
12)	11/4	11/4	Sat-3	

6 @ \$50 - \$300.00

## SAT (3p-7p) MATT MYERS (4-8p)

	Start Date	End Date	# of Spots/Wk
13)	10/28	10/28	Sat-3
14)	11/4	11/4 -	Sat-3

6 @ \$50 - \$300.00

## SUN (3p-7p) AHMAD CRUMP

	Start Date	End Date	# of Spots/Wk	
15)	10/29	10/29	Sun-3	
16)	11/5	11/5	Sun-3	

6 @ \$25 - \$150.00

Total Schedule:

\$1,980.00

# of Spots:

45 (:30 sec)

I represent that the payment for the a	bove described broadcast time	e has been turnished
Connettee 7.	ELGET W. MONA'.	Scott
and you are authorized to announce represent that this person or entity is authorized committee/organization of	the time as paid for by such pe either a legally qualified candid	erson or entity. I date or an
The name of the treasurer of the can	didate's authorized committee	is:
This station has disclosed to me its p classes and rates; and discount, proto federal candidates).	motional and other sales practi	ces (not applicable
THIS STATION DOES NOT DISCR BASIS OF RACE OR ETHNIC	IMINATE OR PERMIT DISCRI	MINATION ON THE ADVERTISING.
To Be Signed By Car	ndidate or Authorized Co	ommittee
10/25/17 Date	Tina Rics Signature	er our assistant
To Be Signed	d By Station Representative	
Accepted	☐ Accepted in Part	☐ Rejected
Value Mochs	Valerie P. Blocks Printed Name	SR.A.E.
Şignature	I IIIIOU IIIIIIO	

Product 1/2

Advertiser Ref

### CONTRACT



WZAK-FM 6555 Carnegie Avenue Suite 100 Cleveland, OH 44103-4619 Billing Fax: (216) 361-1605 (216) 579-1111

And:

T Rice Communications Attention: T Rice 21590 Kension Ave Euclid, OH 44123

	Contract / Revision 425721A /			Alt Order#	
Product	L				
Cleveland Housing Cour	t				
Contract Dates	Estimate #				
10/27/17 - 11/07/17	Nov Gen 201	7			
Advertiser	-		Or	iginal Date	/ Revision
Committee to Elect W. N	lona Scott Jud	ige	1	0/26/17	/ 10/26/17
M:	Billing Cycle	Billing	Cal	endar	Cash/Trade
	EOM/EOC	Broadcast Account Executive		:	Cash
	Property			xecutive	Sales Office
	WZAK-FM	ZAK-FM Valerie Br		ooks	Local Cleveland

Special Handling Cash in Advance Demographic Adults 18+

Agy Code

Agency Ref

Advertiser Code

						W			
			Start/End	-		Spots/			
*Line Ch Start Date E	nd Date Description	n	Time	Days	Length \	Week Rate Rtn	Type	spots	Amount
N 1 WZAK 11/02/17 1	1/07/17 M-F AM Dri	ve	6a-10a		:30		NM	4	\$260.00
Start Date End D		Spots/Week	<u>Rate</u>						
Week: 10/30/17 11/05		2	\$65.00						
Week: 11/06/17 11/12	2/17 11	2	\$65.00						
N 2 WZAK 10/27/17 1	1/07/17 M-F Midday	1	10a-3p		:30		NM	7	\$490.00
Start Date End I		Spots/Week	Rate						
Week: 10/23/17 10/29		2	\$70.00						
Week: 10/30/17 11/05		3	\$70.00						
Week: 11/06/17 11/12	2/17 11	2	\$70.00						
N 3 WZAK 11/02/17 1	1/03/17 M-F PM Dr	ve	3p-7p		:30		NM	2	\$200.00
Start Date End [		Spots/Week	<u>Rate</u>				- 1		
Week: 10/30/17 11/05	5/1711	2	\$100.00						
N 4 WZAK 10/27/17 1	1/03/17 M-F Evenin	g	7p-12a		:30		NM	11	\$220.00
Start Date End [		Spots/Week	<u>Rate</u>						
Week: 10/23/17 10/29		3	\$20.00						
Week: 10/30/17 11/05	5/17 -2222	8	\$20.00						
N 5 WZAK 10/28/17 1	1/04/17 Sa AM		6a-10a		:30		NM	4	\$80.00
Start Date End I		Spots/Week	Rate						
Week: 10/23/17 10/29		2	\$20.00						
Week: 10/30/17 11/05	5/172-	2	\$20.00						
N 6 WZAK 10/28/17 1	1/04/17 Sa Midday		10a-3p		:30		NM	6	\$300,00
Start Date End [		Spots/Week	Rate						
Week: 10/23/17 10/29		3	\$50.00						
Week: 10/30/17 11/05	5/173-	3	\$50.00						
N 7 WZAK 10/28/17 1	1/04/17 Sa PM		3p-7p		:30		NM	6	\$300.00
Start Date End [		Spots/Week	Rate						
Week: 10/23/17 10/29		3	\$50.00						
Week: 10/30/17 11/05	5/173-	3	\$50.00						
N 8 WZAK 10/29/17 1	1/05/17 Su PM		3p-7p		:30		NM	6	\$150.00
Start Date End [		Spots/Week	Rate						
Week: 10/23/17 10/29		3	\$25.00						
Week: 10/30/17 11/05	5/173	3	\$25.00						
17				Totals		0.00		46	\$2,000.00

(\* Line Transactions: N = New, E = Edited, D = Deleted)



WZAK-FM 6555 Carnegie Avenue Suite 100 Cleveland, OH 44103-4619 Billing Fax: (216) 361-1605 (216) 579-1111

	Contract / Revision 425721A /	Alt Order #
<u>Contract Dates</u> 10/27/17 - 11/07/17	Product Cleveland Housing	Estimate # Cour Nov Gen 2017
Advertiser Committee to Elect W. Mc		Original Date / Revision 10/26/17 / 10/26/17

Time Period	# of Spots	Gross Amount	Agency Comm.	Net Amount
09/25/17 -10/29/17	16	\$615.00	(\$92.25)	\$522.75
10/30/17 -11/07/17	30	\$1,385.00	(\$207.75)	\$1,177.25
Totals	46	\$2,000.00	(\$300.00)	\$1,700.00

Signature:	Date: